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Q.1 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the given
figures. How would this paper look when unfolded?

Ans

X2

c o

vilpo oo

oo

Question ID: 8161619583
Status : Answered
Chosen Option : 4




Q.2 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.

16*4*22*2*5=58

Ans X1~"'+'+-‘
x2_+,—,+,x
W 3x-++
K oas - %+

Question ID : 8161619775
Status : Answered
Chosen Option : 3

Q.3 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans « ) A

XZL 3 ]
X 1

-G

Question ID : 8161619580
Status : Answered
Chosen Option : 1

Q.4 Qe BIeT ASH e W We T2 36T 81 ST R Hehd o g, a2t d IS 3uaks foer A avrer &
8 Afger @ wgr, "S9 d=d H A F ufq, smudh ufer Hr awit Hr G R 1 & oferoft 1
gafenl d & Afgen o1 39 gou hY a19 @ g Rear & it v R ugf wA aret ek @ foar @2

Ans X1‘3~,—°ﬁ
v 2.9
75 3. smfyareh
25 4. aidy/Ardh

Question ID: 8161619163
Status : Answered
Chosen Option : 1




Q.5 Mangesh bought a bicycle from a shop. He sold it to Ragini and earned a profit of
12%. Ragini further sold it to Kartik for ¥5362.56 and earned a profit of 14%. At
what price did Mangesh buy the bicycle from the shop?

Ans o 1 24200

/X 2.34956
/< 3.34000

75 4.34800

Question ID: 8161619376

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.6 Select the option that is related to the third number in the same way as the second
number is related to the first number.

18:306::23:?

Ans o' 1 506
75 2.509
/X 3.508
/X 4.507

Question ID: 8161619169
Status : Not Answered
Chosen Option : --

Q.7 Choose the pair that best represents a similar relationship to the one expressed in
the original pair of words.

Seismograph : Earthquakes

Ans X" 1. Hygrometer : Torque
X 2. Viscometer : Elasticity
x 3. Fathometer : Gravity

( 4. Udometer : Rain

Question ID: 8161619148
Status : Answered
Chosen Option : 3




Q.8  Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

X2 L‘

Question ID: 81616110079
Status : Answered
Chosen Option : 1

Q.9 Select the option that is related to the third term in the same way as the second
termis related to the first term.

INCOME : MHNBDL :: FORMAT : ?
Ans X" 1.BQEDJY

X 2.NZXEWQ
o 3.NELQSZ
75 4. JHMDBK

Question ID: 8161619553

Not Attempted and

Status : Marked For Review

Chosen Option : --




Q.10 The following diagram shows the information collected from a survey in Teachers Colony regarding the social status.
The triangle represents families having an AC, the circle represents families having a laptop, the rectangle represents

families having a car. and the square represents families having a scooter.

A

18 / 0
110] 80 S
i 20 [10 \20|15 | 15

40

Find the number of families that have a laptop and scooter both, but neither an AC nor a car.

Ans XT 15
X2 8
<3 50
v 4 30

Question ID: 8161618985
Status : Answered
Chosen Option : 4

Q.11 Which number will replace the question mark (?) in the following series.

3,8,13,21,61,108,?

Ans X' 1513
75 2.351
/X 3.315
of 4531

QuestionID: 8161619168
Status : Not Answered
Chosen Option : --




Q.12 gelect the option in which the given figure is embedded (rotation is NOT allowed).

Ans

CAT

V2

|| -2l €] B

Question ID: 8161619181

Status : Answered

Chosen Option : 3

Q.13 Study the given pattern carefully and select the number that can replace the

Ans

question mark (?)in it.
122426

303142
48 38?

75 1.46
W 258
/5 3.56
75 4.48

Question ID: 8161618972

Status : Not Answered

Chosen Option : --




Q.14 Select the option in which the words share the same relationship as that shared by
the given pair of words.

Reptiles : Crocodiles
Ans x 1. Amphibians : Crows

x 2. Fishes : Water
J 3.Mammals : Tigers

x 4. Kangaroos : Mollusks

Question ID : 8161619350
Status : Answered
Chosen Option : 2

Q.15 Select the correct option that indicates the arrangement of the given words in a
logical and meaningful order.

1. Attending webinar
2. e-Certificate

3. Notification

4. Feedback

5. Registration

Ans X' 1.3,1,4,5,2
75 2.3521,4
/X 331,542
W 435142

Question ID : 8161618944
Status : Answered
Chosen Option : 4

Q.16 Select the option that is related to the third number in the same way as the second
number is related to the first number.

12:138::14:?

Ans X' 1163
X 2.187
o 3.189
75 4191

Question ID: 8161618970
Status : Not Answered
Chosen Option : --




Q.17 Select the letter-cluster from among the given options that can replace the
question mark (?) in the following series.

HOX, INZ, JMB, KLD, ?
Ans X' 1 LME

75 2,166
/X 3.PKF
o 4 LKF

Question ID: 8161619538
Status : Answered
Chosen Option : 4

Q.18 Two statements are given, followed by four conclusions numbered I, 11, 111, IV.

Assuming that the information given in the statements is true, even if it appears to
be at variance with commonly known facts, decide which of the given conclusions

logically follow(s) from the statements.
Statements:

1. No lotion is a syrup.
2. All syrups are liquids.

Conclusions:
I. No lotion is a liquid.
I1. No liquid is a lotion.

I1l. Some liquids are syrups.
IV. All liquids are syrups.

Ans X 1. Only conclusion | follows
x 2. Both conclusions I and IV follow
x 3. Both conclusions I and Il follow

“ 4. Only conclusion lll follows

Question ID: 8161618959
Status : Answered
Chosen Option : 4

Q.19 Select the option that is related to the third letter-cluster in the same way as the

second letter-cluster is related to the first letter-cluster.

PRIMER : IRPREM : : CANDLE : ?
Ans X" 1. CDEALN

/< 2.ELDNAC
75 3. ACNDEL

o 4 NACELD

Question ID : 8161619351
Status : Answered
Chosen Option : 4




Q.20 39 @ Trd a¥f a1z, 3r5ur hY 37 Ia-N ghft foraeit 37 faers Y 4 af uget oft | =rRor @1 5177 2 anf
gt g3 ATl 10 af g arvoT, freT ofik =t Y sitwra sy 33 adf gt sreor Y adwT sy
fererit &2

Ans o 1 2
/X 2.30ad
X 3.29ad
/< 4.31af

Question ID: 8161618977
Status : Not Answered
Chosen Option : --

Q.21 Select the option that is correct for the bracketed letters with respect to their
inclusion in the given series.

D,4,AF,8,FJ, 12, (K), P, 16, P, X, 20, U, H, 24, (Y)
Ans X" 1. Both the bracketed letters are incorrect.
x 2. Thefirst bracketed letter is incorrect and the second bracketed letter is correct.
J 3. Thefirst bracketed letter is correct and the second bracketed letter is incorrect.

x 4. Both the bracketed letters are correct.

Question ID: 8161619137
Status : Not Answered
Chosen Option : --

Q.22 select the dice (from among the figures A, B, C and D) that can be formed by folding the given sheet along the lines.

[2

6
1
413
5

BT

Ans X 1. Only A, Band C
/< 2 OnlyB,Cand D
3 OnlyBand C
7 4 OnlyAand D

Question ID : 8161619578
Status : Marked For Review
Chosen Option : 3




Q.23 ‘Osteoporosis’ is related to ‘Bones’ in the same way as ‘Vitiligo’ is related to

Ans 1 Kidney
x 2. Heart
75 3.Brain
o 4. skin

Question ID : 8161619546
Status : Answered
Chosen Option : 1

Q.24 Read the given statements and conclusions carefully. Assuming that the
information given in the statements is true, even if it appears to be at variance with
commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. All balls are plastics items.
2. All utensils are balls.
Conclusions:

I. All utensils are plastic items.
Il. Some balls are not plastic items.

Ans X 1. Both conclusions I and Il follow
x 2. Only conclusion Il follows
( 3. Only conclusion | follows

x 4. Neither conclusion I nor Il follows

Question ID: 8161619558
Status : Answered
Chosen Option : 3

Q.25 Select the option that is related to the third term in the same way as the second
termis related to the first term.

SMART :MSTTR::CROWN : ?
Ans X" 1. NWHRC

o 2. RCHNW
75 3. WNHCR
/X 4. CRHNW

Question ID: 8161619752
Status : Answered
Chosen Option : 2




Q.26 ‘gare, ‘Gard @ iR ‘Ff, ‘e (Hers) T I yehR Haifda &, o wep ‘a:iedr, ______ ;|
afad gl

Ans  of 1 v e
X 2 o
75 3.1
25 4 m

Question ID : 8161619345
Status : Answered
Chosen Option : 2

Q.27 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1.Never
2.Nervous
3.Nicotine
4.Navigation
5.Neptune

Ans X' 1.4,2,51,3
75 2.4,21,53
/X 3.4,51,23
445213

QuestionID: 8161619141
Status : Answered
Chosen Option : 4

Q.28 In a certain code language, AVENUE is written as ZQVIFZ and VOYAGE is written as
EJBVTZ. How will EDITOR be written in that language?

Ans X" 1 VYSOLN
W 2. vyrOLM
75 3.UYOSNL
#< 4.UYROPM

Question ID : 8161618955
Status : Not Answered
Chosen Option : --




Q.29 3T T frered o1 991 &, St FEU 71Q 2reg-agaeyT ) difdhen 3R arefes svm A Sfia eear &1

1. amga

2. qayst

3. graryst
4. et

5. QeRTERTYST

Ans X' 1.4,2,1,5,3
X 2.4,31,25
341253
X 441,235

Question ID : 8161618942
Status : Answered
Chosen Option : 4

Q.30 Which letter will replace the question mark (?) in the following series?

M, H,E, Z,W,R,0,?

Ans x1_N
2
K 3M
X 4K

Question ID: 8161619136
Status : Answered
Chosen Option : 2

Q.31 Which two signs should be interchanged to make the given equation correct?
266+7+2-80x13=9
Ans x 1.-and +
J 2.+ and x
x 3.+and -
x 4.xand +

Question ID : 8161618974
Status : Not Answered
Chosen Option : --

Q.32 In a family of six persons, A,B,C,D,EandF, C is the father of B. Ais the mother of
F.Dis the son of B. Eis the mother-in-law of B’s wife. F is the sister of D. Howis C
related to E?

Ans X 1 Father

X 2. Mother
J 3. Husband
X 4. wife

QuestionID: 8161619362
Status : Answered
Chosen Option : 3




Q.33 If MALICE is coded as 116 and NORMAL is coded as 87, then how will OMINOUS be
coded?

Ans x1_81
/X 2.80
W 379
X 4.82

Question ID : 8161619857
Status : Not Answered
Chosen Option : --

Q.34 Which letter cluster will replace the question mark (?) in the following series?

FKKP, 100U, LSSZ, OWWE, ?
Ans X 1 RAZA

75 2.ZARA
o 3.rRAAJ
/X 4.ZAAR

Question ID : 8161619139
Status : Answered
Chosen Option : 3

Q.35 Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P
ADJACENT'
Q

e XK1 THUADHILAA
v2TUIIALAA
X3 VDIVCEUL
X+VDI1IECVHUL

Question ID : 8161619882
Status : Answered
Chosen Option : 2

Q.36 Select the option that is related to the third number in the same way as the second
number is related to the first number.

13:26::14:?

Ans X' 1.36
/X 2.33
/X 3.31
o 4.30

Question ID: 8161618971
Status : Not Answered
Chosen Option : --




written in that language?
Ans 5" 1 FOVQKU

/5 2.ulQxMG
o 3. FNwaJU
/X 4. UJQWNF

Q.37 In acertain code language, MOTHER is written as TGJVQO. How will SHOULD be

Question ID: 8161619154
Status : Not Answered
Chosen Option : --

right and walked 40 m. Then he turned right again, and after walking 50 m he re

walked 120 m to his north and met his class teacher. How far from the startin
point did he meet his class teacher?

Ans 5" 1.80m

o 2.100m
75 3.260m
X 4.120m

Q.38 Astudent walked 110 m to the East to look for his class teacher, and then he turned

ached

his class teacher’s staffroom. His class teacher was not there. From there he

g

Question ID: 8161618961
Status : Not Answered
Chosen Option : --

Murali is in which direction with respect to Kamal?

Ans J 1. East
X 2. West
75 3.North

X 4. South-East

Q.39 Kamalis 82 m north-west of Sarika. If Muraliis 82 m north-east of Sarika, then

Question ID: 8161618960
Status : Answered
Chosen Option : 1

Q.40 Which letter cluster will replace the question mark (?) in the following series?

MASTERMIND, NSTJMMIA, ITOHMS, ?
Ans X 1. MTTC

o 2 mTcT
/X 3.mMCcTC

X 4.mMCTT

Question ID : 8161619140
Status : Not Answered
Chosen Option : --




Q.41 If SINK is coded as 49 and CRAFT is coded as 43, then how will PRINT be coded?

Ans X' 173
272
X 3.77
X 475

Question ID : 8161619156
Status : Not Answered
Chosen Option : --

Q.42 Select the number from among the given options that can replace the question
mark (?) in the following series.

43,57,72,?,105, 123

Ans X' 1 83
X 2.102
/< 3.78
o 488

Question ID: 8161619566
Status : Not Answered
Chosen Option : --

Q.43 Select the Venn diagram that best illustrates the relationship between the given classes.

Rabbit, Animals, Lion

Ans

Ko

V2

080@

Question ID: 81616110084
Status : Answered
Chosen Option : 2




Q.44 3I9 faepred o1 T &, forads 2regl & i aan & daw g, St Hey fag 7g gim & aresl & g
gl

3fEaes : fEaes
Ans X" 1. gferg : oer &
o 2. @@ gfaa
75 3. @i : @yt
#< 4. e e

Question ID : 8161619549
Status : Answered
Chosen Option : 2

Q.45 faf¥=a 321t & =: ufafafd g Me a1 & afike: Th-gR & fwoffa wu @ gwga 33 41wl
ufafafd, T<ft ufafafd & a1 ok ur, Afeh ag smfkh ufafafd & ard ez um sifeforaTs
ufafafd Sl vty ufaf~fQ & sy ur, AfF= ag gféror snfih ufafafd & a1d il sz
TSl & ufafafd & ard oiiz umi &faror snhid ufafafY & Sl awga o= ar ufafaf et a1?

Ans X 1. grer @l
X 2. sifefmms nRffy
/X 3. e wfaffy
o 4 = uRif

Question ID: 8161619865
Status : Not Answered
Chosen Option : --

Q.46 Arpita, Gagan, Nitin, Varsha, Shreya and Shahid are sitting in a straight line facing the
north. Nitin is to the immediate left of Gagan. Shreya is between Arpita and Shahid.
Shahid is at the second place from the right end. Four persons are sitting between
Nitin and Varsha. Who is sitting between Varsha and Shreya?

Ans X 1. Arpita
75 2. Nitin
/X 3.Gagan
W 4. shahid

Question ID : 8161619364

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.47 ‘Cardiology’ is related to ‘Heart’ in the same way as ‘Phonetics’ is related to

Ans X1 Insects

X 2. Heredity
x 3. Phones
J4. Sound

Question ID : 8161619547
Status : Answered
Chosen Option : 4




Q.48 Which number will replace the question mark (?) in the following series.

32, 33, 29, 38, 22, 47, 11,2

Ans x1_40
K 2.45
W 3.60
/X 4.55

Question ID: 8161619167
Status : Not Answered
Chosen Option : --

Q.49 Gg} faere &1 a1 e, Sit faQ 7Y ereet hY saawt &) aifdhies o Tl a A Sfia @war &1

1. vder

2. mefT ® SufAfa
3. maer gderr

4. faam & faifén
5. gtaar-shA gt

Ans  of 135142
X 231,254
/X 3.3521,4
X 4.3,1,524

QuestionID: 8161619144
Status : Answered
Chosen Option : 1

Q.50 Select the option in which the numbers are related in the same way as are the
numbers in the given set.

(8,3,21)
Ans X' 1.(5,7,33)
X 2.09,4,27)
/X 3.(6,3,18)
W 457,23

Question ID : 8161619573
Status : Not Answered
Chosen Option : --

Section : General Awareness




Q.1 How many candidates will be trained under the third phase of the Pradhan Mantri
Kaushal Vikas Yojana, which was launched in January 2021?

Ans K" 1.3 lakh
o 2.8lakh

75 3.11lakh
/X 4.5 lakh

Question ID: 8161619791
Status : Answered
Chosen Option : 4

Q.2 Which of the following is NOT a type of cropping season in India?
Ans X 1. Zaid

75 2.Rabi
J 3. Boro
75 4. Knarif

QuestionID: 8161619416
Status : Answered
Chosen Option : 3

Q.3 Which Article of the Constitution of India provides that “the State shall provide
free and compulsory education to all children of the age of sixto fourteen years”?

Ans X" 1. Article 17
o 2. Article 21A
/X 3. Article 44
75 4. Article 32

Question ID : 8161619829
Status : Answered
Chosen Option : 2

Q.4 Inthe water cycle, snow and ice get directly converted into vapours. This process is
called:

Ans X" 1. evaporation

J 2. sublimation

x 3. boiling

X 4. transpiration

QuestionID: 8161619798
Status : Answered
Chosen Option : 2




Q.5 Which of the following is NOT advisable as a process of separation of components

of a mixture?

Ans x 1. Sedimentation
“2.Winnowing

x 3. Filtration

x 4. Decantation

Question ID: 8161619606
Status : Answered
Chosen Option : 4

Q.6 Which of the following deserts is in the Southern Hemisphere?
Ans  of 1 Kalahari

x 2. Great Basin

x 3. Sahara
x 4.Thar

Question ID: 8161619419
Status : Answered
Chosen Option : 2

Q.7 fe=fofRaa & & ol Sw uder o1 usy usft 82
Ans X1 e aiRar

/X 2. o e

/X 3. sRaer ush

o 4 arad

QuestionID : 8161619821
Status : Answered
Chosen Option : 4

Q.8 wmrEn2nty (sHersfew) foraeht ot (ergufar) & wRor g9 areft et &1 Qe wiaror 82
Ans  of 1 R
X 2.

/X 3T
X 4. urRfRem

Question ID: 8161619803
Status : Answered
Chosen Option : 1




Q.9 fam=faf@a d @ st vang ufewT= (A9 Ge) &1 Geh UhIR &2
Ans o 1 fed (i)

X 2. a=q

75 3. feeme

X 4R

QuestionID: 8161619618
Status : Answered
Chosen Option : 1

Q.10 UIERT i & LRIl (TVXATYA) ,  BITGATS I8 STTAR ______ Y gRerT @ Hafda @i
Ans X 1. mRe aRfere

7 2. argaiaH

W 3. e iRu

X 4w s EsursmR

QuestionID: 8161619188
Status : Answered
Chosen Option : 2

Q.11 If the distance between two objects increases three-fold, then the gravitational
force of attraction between them

Ans X" 1. becomes one-third of the original
x 2.increases nine times
x 3. increases three times

J 4. becomes one-ninth of the original

QuestionID: 8161619011
Status : Answered
Chosen Option : 4

Q.12 Which of the following cities hosted the Tansen Sangeet Samaroh in December
2020?

Ans X" 1 Jaipur
x 2. Agra
75X 3.Indore
o 4. Gwalior

Question ID: 8161619589
Status : Not Answered
Chosen Option : --




Q.13 The chemical symbol of Molybdenumis ______.

Ans X" 1. Mb
W 2. Mo
X 3. My
25 4.Md

Question ID : 8161619404
Status : Answered
Chosen Option : 2

Q.14 iy gd & &= & d@afiia F & forg o8 -uradt ararsd) i«
(BCE) # fore qRT= IR 21e% ol Iuai T feRat Srar um?

Ans X 1. fgre (Tianzhu)
x 2. smafed (Aryavarta)

o 3. g (Hindu)
75 4.8g (Hodu)
Question ID : 8161619925
Status : Answered
Chosen Option : 2
Q.15 ______ formally launched the first publicly available internet service for India in

August 1995.
Ans o 1 vsNL

x 2. Aircel
x 3. Airtel
75 4.BSNL

Question ID: 8161618987
Status : Answered
Chosen Option : 1

Q.16 Which of the following states does NOT share its boundary with Bangladesh?
Ans X" 1 WestBengal

x 2. Tripura
x 3. Assam
( 4. Manipur

Question ID: 8161619619
Status : Answered
Chosen Option : 4




Q.17 What is the total number of stocks constituting the basket on which the S&P BSE
Sensex or the Sensitive Index is based?

Ans X 1 Fifty
75 2. Twenty
o 3. Thirty
/X 4. Forty

Question ID : 81616110095
Status : Not Answered
Chosen Option : --

Q.18 In May 2020, Union Culture Minister, Shri Prahlad Singh Patel, released an e-book
‘Prof. BB Lal - India Rediscovered’. Prof. BB Lal is a/an

Ans X 1 engineer

X 2. oncologist

x 3. musician

J 4. archaeologist

QuestionID: 8161619628
Status : Not Answered
Chosen Option : --

Q.19 ______ are known as powerhouses of the cell, as they are involved in releasing energy
from food.

Ans X 1. Lysosomes

X 2. Plastids

( 3. Mitochondria
X 4.Vacuoles

QuestionID: 8161619214
Status : Answered
Chosen Option : 3

Q.20 Which of the following events did NOT happen during the tenure of Lord Dalhousie?
Ans x 1. Introduction of first telegraph line

x 2. Introduction of Doctrine of Lapse
x 3. Passing of Widow Remarriage Act

J 4. Introduction of Subsidiary Alliance System

Question ID : 8161619024
Status : Answered
Chosen Option : 4




Q.21
Ans

‘Mangif eraindica’ is the scientific name of

q 1. mango
/< 2. pineapple
x 3. banana
/< 4. papaya

Question ID: 8161618998
Status : Answered
Chosen Option : 1

Q.22 The second Lok Sabha was constituted in:

Ans

of 1.1957
75 2.1954
/X 3.1955
75 4.1951

Question ID: 81616110130
Status : Answered
Chosen Option : 2

Q.23 Which of the following is a chemical change?

Ans

X 1. Expansion of substance on heating
x 2. Boiling of milk

X 3. Crushing of a can

( 4. Burning of wood

Question ID: 8161619914
Status : Answered
Chosen Option : 4

Q.24 Who among the following hockey players was a part of the Indian Constituent

Ans

Assembly?

X 1. Harmik Singh
x 2. Balbir Singh Dosanjh
( 3. Jaipal Singh Munda

x 4. Dhyan Chand

Question ID : 8161619034
Status : Answered
Chosen Option : 2




Q.25 As of January 2021, how much premium is payable for the annual
commercial/horticulture crops under the Pradhan Mantri Fasal Bima Yojana, as a
percentage of the sum insured/actuarial rate?

Ans X 1.3%
o 2.5%
/X 3.4%
X 4.2%

Question ID : 81616110094
Status : Not Answered
Chosen Option : --

Q.26 uf¥erferd (dhegds) ______ Th Gep Afeher RS dereiias @ STt 2R Y daturftnes ofaat @1
IaTE s o forg faf v srtont & +ff 71 o ga-3 ATdl & dvger-denf A @atsT=i o IughT
e g, e Siaedl ot ofa: shwror ufsrarail & famm iR & sfier 3= i gfaen fAash &1

Ans J-].aqﬂm-cﬁ
75 2. A
75 3. ¥t
X 4.2

QuestionID: 8161619414
Status : Answered
Chosen Option : 2

Q.27 Dandi, the destination of the Dandi Salt March under the leadership of Mahatma
Gandhi, is situated in which of the following states?

Ans  of 1 Gujarat
X 2. Tamil Nadu

/< 3.Bihar
X 4. Punjab

Question ID : 8161619922
Status : Answered
Chosen Option : 1

Q.28 Abdur Razzak visited Vijayanagara Empire duringthe ______ century.
Ans X" 1 17th

75 2.11th
/X 3.13th
o 4.15th

Question ID : 8161619026
Status : Answered
Chosen Option : 3




Q.29 Density of the material of a substance is its mass divided by
Ans X" 1 surface area

J 2.volume

x 3. specific gravity

x 4. square of surface area

QuestionID: 8161619197
Status : Answered
Chosen Option : 2

Q.30 Who among the following developed the smallpox vaccine?
Ans x 1. Alexander Fleming

x 2. Albert Einstein
J 3. Edward Jenner

x 4. Louis Pasteur

QuestionID: 81616110110
Status : Answered
Chosen Option : 3

Q.31 As of December 2020, who among the following is the Governor of Odisha?
Ans X" 1 Bandaru Dattatreya

/X 2. Jagdish Mukhi
x 3. Acharya Devvrat

( 4. Ganeshi Lal

Question ID : 8161619030
Status : Answered
Chosen Option : 4

Q.32 To ensure community mobilisation and bolster people’s participation in Overarching
Scheme for Holistic Nourishment in India, Rashtriya Poshan Maah was observed in
2020 during the month of

Ans x 1. November

x 2. October
J 3. September

x 4. August

Question ID : 8161619397
Status : Answered
Chosen Option : 3




Q.33 A/an ______ is the smallest illuminated area on a computer screen.
Ans X1 Layer

X 2. Angle
o 3. Pixel
x 4. Canvas

QuestionID: 8161619386
Status : Answered
Chosen Option : 3

Q.34 In which year did scientists discover the virus that causes AIDS?
Ans X' 1.1989

75 2.1992
/X 3.1965
of 41983

Question ID : 8161619600
Status : Not Answered
Chosen Option : --

Q.35 Who among the following is NOT a Nobel laureate?
Ans x 1. Subrahmanyan Chandrasekhar

x 2. Amartya Sen
x 3. Venkatraman Ramakrishnan

“ 4. Manoj Das

Question ID : 8161619227
Status : Answered
Chosen Option : 4

Q.36 Which of the following Constitutional Amendments made Pondicherry (now
Puducherry) a Union Territory?

Ans x 1. 28th Constitutional Amendment
x 2.12th Constitutional Amendment
( 3. 14th Constitutional Amendment

x 4.32nd Constitutional Amendment

Question ID: 8161619633
Status : Answered
Chosen Option : 1




Q.37 Shah-e-Hamadan Mosque is located on the banks of the river
Ans J 1. Jhelum

#< 2.sutlej
x 3. Beas

x 4.Chenab

Question ID : 8161619023
Status : Not Answered
Chosen Option : --

Q.38 fr=faf@a d & o= @ adta e ggs gas offt {2 o1 wewaygef weafaes sarw 82
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Question ID : 8161619815
Status : Answered
Chosen Option : 3

Q.39 In which of the following places has the Indian currency note printing press NOT
been established as of January 2021?

Ans ( 1. Bhubaneshwar

x 2. Dewas

x 3. Mysore

x 4. Nasik

Question ID : 8161619796
Status : Not Answered
Chosen Option : --

Q.40 The disease ‘Myopia’is also known as:
Ans x 1. far-sightedness

\fz. near-sightedness
X 3. presbyopia

x 4. astigmatism

Question ID : 8161619906
Status : Answered
Chosen Option : 2




Q.41 The Nobel Prize in Physiology or Medicine 2020 was awarded jointly to Harvey J Alter,
Michael Houghton and Charles M Rice for:

Ans J 1. discovery of Hepatitis C virus
x 2. discovery of molecular mechanisms controlling the circadian rhythm
x 3. determining how cells sense and adapt to oxygen availability

x 4. cancer therapy by inhibition of negative immune regulation

QuestionID: 8161619611
Status : Answered
Chosen Option : 2

Q.42 Which of the following hill stations is NOT in Uttarakhand?
Ans  of 1 Daringbadi

x 2. Nainital

x 3. Chakrata

X 4. Mussoorie

Question ID: 8161619017
Status : Answered
Chosen Option : 3

Q.43 Which causative agent is responsible for spreading AIDS?

Ans ( 1. Virus

x 2. Protozoa

x 3. Bacteria
x 4. Fungus

Question ID: 81616110101
Status : Answered
Chosen Option : 1

Q.44 Which of the following statements about the Summer Olympics of 2012 is correct?

Ans x 1. Athens hosted the Summer Olympics of 2012
( 2. London hosted the Summer Olympics of 2012
X 3. Beijing hosted the Summer Olympics of 2012

x 4. Paris hosted the Summer Olympics of 2012

Question ID : 8161619235
Status : Not Answered
Chosen Option : --
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Question ID: 8161619433
Status : Answered
Chosen Option : 3

Q.46 In January 2020, Indian Navy launched Operation
assistance and disaster relief in Madagascar.

Ans x 1. Pineapple

J 2. Vanilla

X 3. Strawberry

75 4.Shanti

to provide humanitarian

Question ID : 8161618990
Status : Answered
Chosen Option : 4

Q.47 India’s communication satellite CMS-01 was successfully launched by
December 2020.

Ans X' 1 psLv-C28

o 2. PsiLvcso
75 3.PSLV-01
/X 4.PsLv-C45

Question ID : 8161619593
Status : Not Answered
Chosen Option : --

Q.48 How many government-run film and media units were merged with the National Film
Development Corporation (NFDC) in December 2020?

Ans X 1. Two
/X 2. Five
o 3. Four
x 4.Three

Question ID : 8161619793
Status : Not Answered
Chosen Option : --
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Ans x 1.gea
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o 3.7
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Question ID : 8161619207
Status : Answered
Chosen Option : 2

Q.50 Seawater is arich source of which of the following chemical elements?

Ans X" 1. Hydrogen sulphide

X 2. Hydrogen peroxide

J 3. Bromine

X 4. Cadmium

Question ID : 8161619902
Status : Answered
Chosen Option : 3

Section : General Engineering Mechanical

Q1 What happens when a fluid is at rest?
Ans o 1. There is no shear component

/< 2. Internal deformation is considerable

X 3.

Fluid element will not be subjected to normal and shear component

/< 4. Frictional force is present

Question ID : 8161619521
Status : Answered
Chosen Option : 1

Q-2 wwhat is the unit of surface tension?
Ans X1 kg/m

v 2 N/m

< 3. N-m

X4aN

Question ID : 8161619501
Status : Answered
Chosen Option : 2




Q-3 Which of the following does NOT result in poor performance of boilers?
Ans X 1. Surface fouling

/< 2. Poor combustion

+ 3. Boiler mounting

7< 4. Poor water quality

QuestionID: 8161619476
Status : Answered
Chosen Option : 3

Q4 The compression ratio of a Compression Ignition (CI) engine is:
Ans X1 <5

V2 121022

X3 10t0 15

X4 5t010

Question ID : 8161619457
Status : Answered
Chosen Option : 3

Q.5 1In the context of fluid mechanics, which of the following statements is INCORRECT?

Ans X1-

Fluid continues in motion under the application of shear stress.
+ 2. Fluid does not deform continuously under shear stress.
/< 3. Fluid cannot sustain any shear stress when at rest.

< 4. Fluid deforms under very small shear stress.

Question ID : 8161619513
Status : Answered
Chosen Option : 2

Q6 A centrifugal pump:
Ans  of 1. flow is radially outwards in this pump
< 2. fluid gain is through constant head

/< 3. flow is tangential in this pump

/< 4. works on the same principle as that of a Francis turbine

Question ID : 8161619528
Status : Answered
Chosen Option : 1




Q.7 A fusible plug must be used primarily for safety purposes in which of the following types of boilers?
Ans X 1. Oil-fired boiler

/< 2. High-pressure boiler

3. Fire-tube boiler

/< 4. Marine type boiler

Question ID: 8161619479
Status : Answered
Chosen Option : 2

Q8  The Rankine cycle is an ideal cycle for vapour power plants because:
Ans 3 1. it does not allow isentropic expansion

/< 2. steam is not condensed in the condenser

« 2 it includes reversible processes

/< 4. water enters the pump at unsaturated state

Question ID: 8161619468
Status : Answered
Chosen Option : 3

Q.9 A continuity equation for two dimensional compressible flow is given by:

Ans

< —+g(lﬁm’)—

_ du av
X2u—+v—=0

ox  dy
d(pu)  a(pv)
v &) = + o
av

~< 4. E‘FE 0

=0

QuestionID: 8161619711
Status : Answered
Chosen Option : 3




Q10 A single stage impulse turbine is also known as:

Ans X 1. Curtis stage turbine
#< 2. reaction turbine

« 3 de Laval turbine
/< 4. Rateau turbine

Question ID : 8161619497
Status : Answered
Chosen Option : 3

Q11 WWhich of the following statements is more relevant?

Ans 3 1. In kinematics of fluid flow, pressure is a vector field.

v

In the Lagrangian approach, a fluid particle of fixed mass is considered.

X 3

Fluid kinematics deals with the action of the forces in producing or changing motion of fluid.

F

In the Eulerian method, control volume approach is not used.

Question ID : 8161619505
Status : Marked For Review
Chosen Option : 1

Q.12 The refrigerant used in the VCR based refrigerant cycle rejects heatin
Ans 1. the expansion valve
/< 2. the evaporator
« 3. the condenser

/< 4. the compressor

Question ID: 8161619687
Status : Answered
Chosen Option : 3




Q.13 Select the most appropriate definition of a turbine from the following statements.

Ans X 1. Turbine is a fluid machine.
v 2

It is device in which kinetic energy held by a fluid is converted to mechanical energy of a rotating member.

X 3

It is a device where potential energy is transferred to a fluid.

F

It is a device where mechanical energy from moving parts is transferred to a fluid.

Question ID : 8161619524
Status : Answered
Chosen Option : 2

Q.14 Inthe context of aircraft refrigeration cycle, what is temperature of air at the exit of cooling turbine in the absence of
moisture condensation?

Ans 1. Saturated temperature
+ 2. Dry air rated temperature (DART)
/< 3. Super-saturated temperature
75 4. Dry air temperature (DAT)

Question ID : 8161619489
Status : Not Answered
Chosen Option : --

Q15 Fans and blowers of turbo machines:

Ans X 1. a higher static pressure will prevail

/< 2. spiral casing decreases the static pressure
« 3. deliver air at a higher desired velocity

7< 4. deliver air at a lower mass flow rate

Question ID : 8161619530
Status : Answered
Chosen Option : 3




Q16 Which of the following characteristics of a centrifugal pump is vital?

Ans 3 1. Slip will decrease with the increase in flow rate

X2

Fluid is considered to have friction while flowing inside the pump

/< 3. Fluid moves normal to the blade

v o

There will be no whirl component of velocity at the entry to impeller

Question ID : 8161619529
Status : Marked For Review
Chosen Option : 1

Q.17 For asingle cylinder four-stroke oil engine, indicated power is 15 kW, calorific value of fuel is 40000 kT/keg and fuel
consumed is 0.001 kg/'s, What will be the indicated thermal efficiency?

Ans X1 40%
v 2 37.5%
X 3. 62.5%
K4 75%

Question ID : 8161619459
Status : Answered
Chosen Option : 2

Q.18 In air standard cycle analysis of IC engines. which of the following statements is correct?

Ans

/< 1. Specific heats (Cp, Cv) of air vary with temperature.
X2

There will be a sudden change in chemical equilibrium of the working fluid.

o 3. There are no intake or exhaust processes.

p

Compression and expansion processes are considered as irreversible.

Question ID : 8161619458
Status : Answered
Chosen Option : 3

Q.19 ywWhat is a dilatant?

Ans

/< 1. It is a fluid with suspended colour pigments.
« 2 It is a shear thickening fluid.
~ 3

It is a fluid that sustains shear stress without any deformation.

/< 4. It is a shear thinning fluid.

Question ID: 8161619515
Status : Answered
Chosen Option : 2




Q20 Boijlers in the Rankine cycle are used:

Ans 1. to allow expansion of steam

/< 2. to store working fluid

« 3 for steam generation

/< 4. to maintain heat in the process

Question ID : 8161619470
Status : Answered
Chosen Option : 3

Q.21 Nominal volume generated by the working piston when travelling from one dead centre to the next is called
Ans

/< 1. clearance volume
W 2. swept volume

/< 3. total volume
/< 4. stroke volume

Question ID : 8161619463
Status : Answered
Chosen Option : 2

Q22 wwhich of the following is an inferential type of flow meter?

Ans X 1. Purge flow regulator
+ 2 Rotameter
/< 3. Laser doppler

75 4. Magnetic flowmeter

Question ID : 8161619519
Status : Answered
Chosen Option : 3

Q.23 Which of the following statements is correct with reference to perpetual motion machines of the first kind?

Ans 3 1. It violates the second law of thermodynamics.

/< 2. Tt is a reversible process.
/< 3. It produces heat without receiving work input.

W 4 It produces work without receiving heat.

Question ID : 8161619454
Status : Answered
Chosen Option : 4




Q.24 With respect to head loss of flowing fluid, select the most appropriate statement.
Ans 1. Energy loss is not caused by change in velocity
v

Increase in velocity in a flow induces large-scale turbulence
/< 3. Energy loss is not due to formation of eddies

/< 4. Portion of energy loss will not be dissipated as heat

Question ID: 8161619517
Status : Answered
Chosen Option : 2

Q.25 According to IBR regulations, boilers exceeding need regular inspection and certification.

Ans 5
v &)
X s
F

capacity of more than 15 litres
capacity of more than 5 gallons
capacity lesser than 5 gallons

capacity of more than 50 gallons

Question ID : 8161619478
Status : Not Answered
Chosen Option : --

Q.26 While loading,  material undergoes fracture after large amount of deformation.
Ans X 1. isotropic

/< 2. plastic

< 3 brittle

v 4 ductile

Question ID : 8161619642
Status : Answered
Chosen Option : 4

Q27 WWhich of the following statements is relevant?

Ans Jy

Fluid deforms continuously under the action of shear stress of even very low magnitude.

/< 2. Fluid deforms under constant shear stress.
/< 3. Fluid can sustain shear stress when at rest.

F

Fluid does not deform continuously under the action of shear stress.

Question ID : 8161619499
Status : Answered
Chosen Option : 1




Q28 The specific gravity of water at standard atmospheric conditions is:

Ans 1. greater than 1

/< 2. less than 0
Vsl
K40

Question ID : 8161619699
Status : Answered
Chosen Option : 3

Q29 wwhich of the following pairs is NOT an example of a lower pair?

Ans X 1. Prismatic pair

/< 2. Helical and cylindrical pair
/< 3. Revolute pair
« 4 Rolling ball on a flat surface

Question ID : 8161619439
Status : Answered
Chosen Option : 4

Q.30 Which of the following links does NOT undergo any deformation while transmitting motion?

Ans  of 1. Rigid link
& 2. Flexible link
< 3. Resistance link
# 4. Fluid link

Question ID: 8161619636
Status : Answered
Chosen Option : 1

Q31 A thermoelectric refrigeration system requires:

Ans  of 1. low voltage DC input
7< 2. high voltage DC input
#< 3. high voltage AC input

/< 4 low voltage AC input

Question ID : 8161619493
Status : Not Answered
Chosen Option : --




Q32 For a carburising flame, the flow of  is kept higher.
Ans X" 1. argon

/< 2. nitrogen

/X 3. 0Xygen

W 4 acetylene

Question ID: 8161619734
Status : Answered
Chosen Option : 4

Q.33 At sea level. under normal conditions, what is the atmospheric pressure?

Ans  of 1. 101.32 kPa
& 2. 100.043 kPa
< 3.100.1 kPa
< 4.104.013 kPa

Question ID : 8161619506
Status : Answered
Chosen Option : 1

Q34 The fourth stage of the compression ignition process is:
Ans o 1. burning on the expansion stroke
/< 2. ignition delay period

#< 3. period of controlled combustion

/< 4. period of rapid or uncontrolled combustion

Question ID : 8161619462
Status : Answered
Chosen Option : 3

Q35 YWhich of the following is the best example of a thixotropic fluid?
Ans 3 1. Tooth paste

/< 2. Minerals in suspension

7% 3. Fly ash

« 4 Printing ink

Question ID : 8161619502
Status : Answered
Chosen Option : 2




Q36 Ope ton of refrigeration is equal to KW.
s X 13

X225

Vs 35

X a1

QuestionID: 8161619693
Status : Answered
Chosen Option : 3

Q37 1 jthium bromide is used as an absorbent in
Ans X 1. vapour compression refrigeration

+ 2. vapour absorption refrigeration

/< 3. steam jet refrigeration

/< 4. Electrolux refrigerators

QuestionID: 8161619691
Status : Answered
Chosen Option : 2

Q.38 A member of length 200 mm and diameter 25 mm is subjected to a tensile load of 20 kN. The final length of the

member is found to be 220 mm. The percentage increase in the length of the member is:
Ans x 1. 204
<2 1%
X 3. 5%
v 4 10%

Question ID : 8161619442
Status : Answered
Chosen Option : 4

Q.39 An appurtenance whose length generally does NOT exceed three times of its diameter is called
Ans X 1. a non-return valve

< 2. adiffuser

#< 3. an orifice

+ 4 a mouthpiece

QuestionID: 8161619518
Status : Answered
Chosen Option : 3




Q40 wwhich refrigeration system is driven by low-grade energy?

Ans 1. Gas cycle refrigeration

« 2. Steam jet refrigeration

/< 3. Vortex tube systems

/< 4. Thermo-electric refrigeration

Question ID : 8161619491
Status : Answered
Chosen Option : 2

Q.41

What is radiant heating in the context of boilers?
Ans o 1. Heating process carried out using radiation effect
/< 2. Heating done on radial tubes

/< 3. Saturated steam is re-circulated and super-heated

F

Heating done on external walls only by reflecting radiant energy

Question ID: 8161619480
Status : Marked For Review
Chosen Option : 4

Q42 yWhen water is about to vapourise it is called?
Ans X 1. super-heated vapour
/< 2. saturated vapour
/< 3. sub-cooled liquid

« 4 saturated liquid

Question ID : 8161619446
Status : Marked For Review
Chosen Option : 2

Q43 wwhich is the most practical fluid for the Rankine cycle?

Ans 1. Fuel
< 2 Air
& 3. Alr-fuel mixture
W 4 Water

Question ID : 8161619467
Status : Answered
Chosen Option : 4




Q.44 Heat and work both are:

Ans X 1. point and path functions both
« 2. path functions
/% 3. point functions
< 4. state functions

Question ID: 8161619648
Status : Answered
Chosen Option : 2

Q45 wWhy do engines need to be cooled?

Ans X 1. To regulate mass transfer

#< 2. To reduce ignition temperature

' 3. To avoid pre-ignition and knocking

/< 4. To improve compression volume

Question ID : 8161619464
Status : Answered
Chosen Option : 3

Q.46

Ans X 1. Impact strength
« 2 Fatigue strength

#< 3. Toughness
/< 4 Hardness

is the ability of steel to resist stresses that are reversal in nature.

QuestionID : 8161619531
Status : Answered
Chosen Option : 2

Q47 wWhich of the following is NOT a water-tube boiler?
Ans 1. Stirling boiler

« 2. Cornish boiler

#< 3. Loeffler boiler

# 4. LaMont boiler

Question ID : 8161619474
Status : Answered
Chosen Option : 2




Q48 Tntercooling in multistage compression reduces

Ans o 1. the work input to compressor
# 2. the volume of free air delivered
/< 3. the pressure of air at delivery
/< 4. the index of compression
Question ID : 8161619685
Status : Answered
Chosen Option : 1
Q.49 With respect to reaction turbines, which of the following statements is relevant?
Ans X 1. Guide blades are not connected to the regulating ring.
#< 2. Water does not flow through a scroll casing.
V3
Governing of reaction turbines is done by altering position of the guide vanes.
X
Flow rate cannot be controlled by changing the gate openings to the runner.
Question ID : 8161619527
Status : Answered
Chosen Option : 3
Q.50 Which of the following statements is INCORRECT with respect to water tube boilers?
Ans X 1. They are suitable for high steam pressure
/< 2. They are suitable for large gas flows
+ 3. They cannot handle high steam pressure
/< 4. They are smaller and lesser in weight
Question ID : 8161619477
Status : Answered
Chosen Option : 3
Q.51 Identify the complete and correct statement of the first law of thermodynamics.
Ans X 1.
During a process, extracting work without supplying heat, while sacrificing the energy of the system.
< 2.

Difference between the heat and work interactions during a process, which is property of the system.

v &)

‘When a closed system executes a complete cvcle, the sum of heat interactions is equal to the sum of work interactions.

F

When a system undergoes a cycle. the integral of heat is equal to the integral of work.

Question ID : 8161619450
Status : Answered
Chosen Option : 3




Q52 ywhich of the following is NOT a maintenance method of a boiler?
Ans X 1. Dry lay-up
/< 2. Wet lay-up
/< 3. Short-term lay-up

« 4 Chemical lay-up

Question ID : 8161619472
Status : Not Answered
Chosen Option : --

Q.53 Which of the following helps to increase efficiency of the Rankine cycle?
Ans x 1.

Increasing average temperature at which heat is rejected from the working fluid

v &)

Increasing average temperature at which heat is transferred to the working fluid
/< 3. Increasing the condenser pressure

7< 4. Operating at constant temperature

Question ID : 8161619469
Status : Answered
Chosen Option : 2

Q.54 The air fuel ratios used in a compression ignition engine lie in the range of:
Ans  X'1. 6o 14

V2 181025

X 3. 401048

X 4. 28 t0 36

QuestionID: 8161619461
Status : Answered
Chosen Option : 3

Q35 wWhat js the function of a fly wheel in IC engines?
Ans X 1. To absorb energy during suction stroke
#< 2. To circulate air in the engine for cooling
/< 3. To increase the speed

« 4 To maintain constant speed

Question ID : 8161619460
Status : Answered
Chosen Option : 4




Q56 Which of following is NOT a phase in steel?
Ans 1. Pearlite

/< 2. Austenite

+ 3 Limonite

/< 4 Martensite

Question ID : 8161619731
Status : Answered
Chosen Option : 3

Q57 In a compressor, work is done by:

Ans 1. the fluid on the rotor
« 2 the rotor on the fluid element
#< 3. the rotating part called stator

/< 4. astatic component known as impeller

Question ID : 8161619525
Status : Answered
Chosen Option : 2

Q.58 Which of the following is the working fluid in an air-cycle refrigeration system?
Ans X 1. Air at high Mach number

< 2 Saturated air
/< 3. Compressed air

\f 4. (3as

Question ID : 8161619485
Status : Answered
Chosen Option : 4

Q.59 If compression is achieved by trapping a refrigerant vapour in an enclosed space and then reducing its volume, then it is
called:

Ans X 1. roto-dynamic type compressor
/< 2. open type compressor
/< 3. radial-flow type compressor

« 4 positive-displacement type compressor

Question ID : 8161619482
Status : Answered
Chosen Option : 4




Q.60 The benchmark pressure above which a boiler is considered to be a high- pressure boiler is:
Ans 5 1. 60 bar

& 2. 50 bar

V'3 80 bar

#< 4. 70 bar

Question ID : 8161619475
Status : Answered
Chosen Option : 3

Q61 yWhat is a gauge pressure?

Ans 1. It is pressure measured relative to a perfect vacuum.

/< 2. Tt is an alternate name of datum pressure.

v &)

It is pressure measured relative to local atmospheric pressure.

/< 4. Tt is the same as local atmospheric pressure.

Question ID: 8161619508
Status : Answered
Chosen Option : 1

Q62 The major function of a steam nozzle is to:
Ans 3 1. produce high viscosity steam
« 2. produce high velocity jet of steam
< 3. produce low velocity jet of steam

/< 4. produce low viscosity steam

Question ID : 8161619498
Status : Answered
Chosen Option : 2

Q.63 The COP (coefficient of performance) of a heat pump is always _ the COP of a refrigerator.
Ans  of 1. greater than

#< 2 less than

X 3. equal to

/< 4. less than or equal to

Question ID : 8161619652
Status : Answered
Chosen Option : 1




Q.64 In isentropic compression, similar to aircraft refrigeration cycle, what is ram efficiency?
Ans 1. It is proportional to mass flow rate

/< 2. Ratio of input to output ram pressure

7< 3. Ratio of aircraft velocity to sonic velocity

« 4 Ratio of actual pressure rise to isentropic pressure

Question ID : 8161619490
Status : Answered
Chosen Option : 4

Q.65 Under what condition of fluid flow does shear stress NOT exist?

Ans 1. Fluid in low velocity motion

7< 2. Fluid in high velocity motion
W 3. Negligible viscosity

/< 4. Relative motion exists between fluid layers

Question ID : 8161619503
Status : Answered
Chosen Option : 3

Q.66 Ajrcraft engines use for cooling engines.
Ans 1. a forced cooling system

/< 2. a water-cooled system

/< 3. a thermo-syphon cooling system

« 4 an air-cooled system

Question ID : 8161619465
Status : Answered
Chosen Option : 4

Q.67 What is the flow called if the velocity at a given instant is the same in both magnitude and direction throughout the flow
domain?

Ans 1. Turbulent flow
/< 2. Laminar flow
/< 3. Steady flow

' 4 Uniform flow

Question ID : 8161619510
Status : Answered
Chosen Option : 4




Q68 Define strain energy.

Ans X 1. Tt refers to external work done on a bar.
/< 2. It refers to change in length of a bar.

v &)

It is the potential energy stored by an elastic body when deformed.
#< 4. Tt is the energy released by a bar during loading process.

Question ID : 8161619444
Status : Answered
Chosen Option : 3

Q.69 Inactual compressors, there is a clearance between the cylinder head and piston to take care of thermal expansion.
Identify the correct expression from the given options. where C is the clearance (in mm) and L is the stoke length
(in mm).

Ans 1. C=(0.005L + 0.05)
& 2. C=(0.005+0.5L)
W 3. C=(0.005L+ 0.5)
X 4. C=(0.05L+0.5)

Question ID : 8161619484
Status : Not Answered
Chosen Option : --

Q.70 In the context of the Reynolds transport theorem, which of the following statements is the most appropriate?

Ans X 1. Tt uses fixed control volume.

« 2 It links system and control volume approaches.
/< 3. It does not use control volume approach.

/< 4. Tt uses deforming control volume.

Question ID: 8161619514
Status : Marked For Review
Chosen Option : 1

Q.71 What is a diffuser?
Ans j 1.

It is a duct which decreases the velocity and increases pressure.
/< 2. Tt is a type of nozzle.
/< 3. Tt is a type of valve that decreases pressure.

/< 4. Tt is voltage regulator.

Question ID : 8161619496
Status : Answered
Chosen Option : 1




Q.72 According to Kelvin-Planck’s statement of the second law of thermodynamics, which of the following statements is

correct?

Ans x1_

Heat from a source should be rejected to a high temperature sink.

X2

It restricts the mechanical efficiency of the heat engine to be lesser than unity.
/< 3. Thermal efficiency of the heat engine will be unity.
v

It restricts the thermal efficiency of the heat engine to be lesser than unity.

Question ID : 8161619452
Status : Answered
Chosen Option : 4

Q.73 states that "pressure of a gas mixture is equal to the sum of the pressures each gas would exert if it existed alone
at the mixture temperature and volume”.

Ans 1. Amagat's law of additive volumes

/< 2. Hooke’s law
+ 3. Dalton's law of additive pressures

/< 4. Ideal gas law

Question ID : 8161619447
Status : Answered
Chosen Option : 3

Q74 Define pure substance.

Ans X 1. A single substance without any mixture
#< 2. Substance which is available in the purest form in nature
/< 3. Substance with non-uniform composition

+ 4 Substance with fixed chemical composition throughout

Question ID : 8161619445
Status : Answered
Chosen Option : 4

Q.75 Which of the following statements is INCORRECT in the context of static fluid pressure?
Ans o 1. At any particular depth, it changes with direction.

/< 2. Tt exerts force normal to the walls of the container.

/< 3. It is independent of shape or area of the container.

/< 4. It is directly proportional to depth of fluid.

Question ID : 8161619509
Status : Answered
Chosen Option : 1




Q.76 wWhat is the unit of absolute viscosity?
Ans o 1. Centipoise

/< 2. Saybolt universal unit

/< 3. Viscosity index

# 4. Centistoke

Question ID : 8161619466
Status : Answered
Chosen Option : 1

Q.77 Which of the following statements is INCORRECT with reference to the first law of thermodvnamics?

Ans x1.

Work done by a system on its surroundings is a positive quantity

X2

Energy transfer to a system from its surroundings is a positive quantity
/< 3. Heat interaction is a path function

« 4 Energy transfer is a point function

Question ID : 8161619451
Status : Answered
Chosen Option : 4

Q78 p a flow-measuring device, what is velocity head?

Ans 3 1. Free rise of liquid column in an open-ended tube

X2

Vertical distance through which a column of the flowing liquid would rise in an open-ended tube

« 3. Free fall of liquid column to attain a given velocity freely

/< 4. Difference in elevation in the flow direction

Question ID : 8161619520
Status : Answered
Chosen Option : 4




Q.79

What is a degree-of-freedom in the context of kinematics?

Ans x 1.
Minimum dependent coordinates to describe the configuration
X2
Maximum independent coordinates to describe the configuration
X s
Maximum dependent variables specified to describe the configuration
v o
Minimum independent variables specified to fix the configuration
Question ID : 8161619438
Status : Marked For Review
Chosen Option : 2
Q.80 Which of the following statements is more relevant in the context of IC engines?
Ans J 1.
Compression ratio of the fuel-air mixture is in the range of 6 to 10 in Spark Ignition (SI) engines.
X 2
Compression ratio for air is in the range of 16 to 20 for SI engines.
X s
Walls of the engine cylinder of SI engines need to be thicker than CT engines.
p
Compression Ignition (CI) engines have lesser weight than SI engines.
Question ID : 8161619456
Status : Answered
Chosen Option : 1
Q81 1h I ancashire boilers, the feed water tube is:
Ans

#< 1. open channel type
W 2 perforated

< 3. thin conduit
< 4 solid

Question ID : 8161619473

Status : Not Answered

Chosen Option : --




Q82 yWhich of the following is the characteristic of an isochoric process?
Ans o 1. Process during which specific volume remains constant
/< 2. Process applied to impure substances
7< 3. Process during which no heat is transferred

#< 4. Process during which no mass is transferred

Question ID : 8161619455
Status : Answered
Chosen Option : 1

Q.83 The Lagrangian description of fluid field is more computational because:

Ans J1.

it is required to track movement of a large number of fluid particles with time
/< 2. variation of velocity is expressed in Cartesian coordinates

X 3

velocity field is a continuous funection distribution with position and time

F

velocity of the fluid particle is the same as the local velocity

QuestionID: 8161619512
Status : Answered
Chosen Option : 1

Q-84 For a Kaplan turbine, the value of speed ratio is
Ans ( 1. 5

X205

X3 0.1

X 4 0.9

Question ID : 8161619725
Status : Answered
Chosen Option : 1




Q-85 wWhat is sonic speed?

Ans x 1.
It is the speed at which disturbance propagates at higher velocity.

X2

It is the speed at which disturbance propagates through an inelastic medium.

v &)

It is the speed at which disturbance propagates through a medium.
#< 4. Tt is the speed of air.

Question ID : 8161619522
Status : Answered
Chosen Option : 4

Q.86 With respect to the first law of thermodynamics. which of the following starements is the most relevant?

Ans XT

There is a natural tendency for any system to degenerate into a disordered state

< 2

Energy can be created or destroved depending on the source of input

X 3

A process that involves transfer of heat energy is irreversible

« 4 Energy is always conserved

Question ID : 8161619448
Status : Answered
Chosen Option : 4

Q87 How is a high-pressure boiler classified?
Ans 1. When pressure > 50 bar
+ 2. When pressure > 80 bar

/< 3. When velocity of water is very low

F

When it operates, high amount of steam is required for the operation of the cycle

Question ID : 8161619481
Status : Answered
Chosen Option : 2




Q.88 Another name for the Bell-Coleman cycle is:

Ans 1. reversed Carnot cycle
« 2 ideal reverse Brayton cycle
/< 3. Carnot cycle

#< 4. Rankine cycle

Question ID : 8161619487
Status : Answered
Chosen Option : 2

Q-89 wWhich of the following is NOT a projectile motion?
Ans 1. A stone thrown in any direction

/< 2. A stone thrown horizontally from a building
« 3 A car moving in a straight line

#< 4. Abullet fired from a gun

Question ID : 8161619640
Status : Answered
Chosen Option : 3

Q.90 For a static fluid. the increase of pressure at any point inside the fluid. in a vertically downward direction, must be equal
to the product of the of the fluid and depth from the free surface.

Ans X 1. density
/< 2. viscosity
/< 3. specific gravity
W 4 specific weight

QuestionID: 8161619703
Status : Answered
Chosen Option : 4

Q91 wWhich of the following is NOT considered as external loads?

Ans X 1. Those arising from environment
+ 2. Those arising from cohesion of material
/< 3. Those arising from fluid pressure

7< 4. Those arising from service conditions

Question ID : 8161619440
Status : Answered
Chosen Option : 2




Q92 Tdentify the method by which steel is NOT classified.
Ans 1. Based on chemical composition
+ 2 Based on notch toughness

/< 3. Manufacturing method

/< 4. Based on heat treatment

Question ID : 8161619533
Status : Answered
Chosen Option : 2

Q93 1dentify the requirement of a good boiler from the following options.
Ans 1. It should use maximum refractory material.

7< 2. Tt should be able to produce steam at minimum pressure.
#< 3. It should have more flexible joints.

« 4 It should be light in weight and compact.

Question ID : 8161619471
Status : Answered
Chosen Option : 4

Q94 Define a machine in terms of its basic objective.

Ans X 1. A device to transfer load to source.

v

A device to transfer and transform motion and force from source to load.
/< 3. A device to transform force.

< 4. A device used to transfer force.

Question ID : 8161619436
Status : Answered
Chosen Option : 2

Q.95 TIn a triple fluid vapour absorption refrigeration system, hydrogen gas is used to:

Ans 3 1. provide vapour seal

+ 2. reduce partial pressure of refrigerant in evaporator
/< 3. improve system performance

#< 4. circulate the refrigerant

Question ID : 8161619495
Status : Answered
Chosen Option : 4




Q96 Ap ideal constant pressure gas turbine worksonthe  cycle.
Ans X 1. Atkinson

< 2. Lenoir

X 3. Stirling

+ 4 Brayton

Question ID: 8161619682
Status : Answered
Chosen Option : 4

Q.97 With respect to the term kinematic viscosity, which of the following statements is more relevant?

Ans x1.

Numerator represents property of the fluid to maintain its momentum.

/< 2. Denominator represents propagation of disturbance.

v &)

Denominator represents physical property of the fluid to maintain its momentum.

/< 4. It is an indicator of absolute tendency of the fluid.

Question ID : 8161619523
Status : Marked For Review
Chosen Option : 4

Q.98 In the context of moving control volume, which of the following statements is more relevant?

Ans X1-

Absolute velocity of fluid carries fluid across the control volume

/< 2. Control volume is considered as a fixed volume in space

v &)

Relative velocity of fluid carries fluid across the control surface of moving control volume

F

Difference between absolute and relative velocities of fluid is the velocity across moving control volume

Question ID: 8161619516
Status : Answered
Chosen Option : 2

Q.99 is also called spheroidal graphite cast iron.

Ans X 1. Malleable cast iron
' 2. Ductile cast iron
#< 3. White cast iron
/< 4. Gray cast iron

Question ID : 8161619534
Status : Answered
Chosen Option : 1




Q100 Uipder what condition is an inclined manometer used?
Ans o 1. In small pressure changes

#< 2. When surface of measurement is inclined
7< 3. In high pressure range

/< 4 When u-tube manometer is not available

Question ID : 8161619507
Status : Answered
Chosen Option : 1
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